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A    Derivation of Secon‐order Approximated Utility Function 

A.1    Derivation  of  Second‐order  approximated  utility  function  with 

Default Risk 
Government solvency condition stemming from Eq.(16) in the text is given by: 
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G
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- -º P , which can be rewritten as: 
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with. Notice that  ( ) 1
1R SR R d -= = - . 

Forwarding Eq.(A.1) one period yields: 
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Plugging the previous expression into Eq.(A.1) yields: 

( ) ( ) ( ) ( )( )1 1 1 11
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In the period zero, the previous expression can be rewritten as: 

 
1  E‐mail: eiji_okano@econ.nagoya‐cu.ac.jp 



2 
 

( ) ( ) ( ) ( )( )1 1 1 11
0 0 0 0 0 1 0 11 1 1R R R RW R R C SP R R Wd b d d
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Note that  0d   is predetermined and is constant. Then, 

( )  ( ) ( )( )1 1 1
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with   1
0 0 0SP C SP-º . 

Let define   ( ) ( )( )1 1
00 0 1 11 1R RLW SP R R Wb d d

- -º + - - . 

Taking logarithm the previous expression yields: 
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. 

First order approximation of Eq.(A.2) yields: 
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Dividing both sides of the previous expression yields: 
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which can be rewritten as: 
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where we use  ( ) 1
0 01 lnR W LW

R
W LW

- æ ö÷ç- = ÷ç ÷çè ø
  and 
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W
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Taking logarithm of the LHS of Eq.(A.3) yields: 
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Combining Eq.(3) with Eq.(4) yields: 
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. 

Plugging  1

1ˆ ˆS
t tr

dd
d -
-=   into the previous expression yields: 
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( ) 00 0 0 1
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Integrating Eq.(A.5) forward yields: 
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with  0wvº   where we use: 
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…. 

Second order approximation of   1
t t tSP C SP-=   is given by: 
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Plugging Eq.(A.7)into Eq.(6) yields: 
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Second‐order approximation  t t t tSP Y Gtº -   is given by: 
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which can be rewritten as: 
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w º . 

First‐order approximation of  t t t tSP Y Gtº -   is given by: 
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Here, 
Y

SP

t
  is the elasticity of tax rate or output to primary balance. Thus, this equality 

implies that the elasticity of tax rate to primary balance is equal to the elasticity of output 

to  primary  balance.  In  addition,  one  percent  increase  in  tax  rate  increases  primary 

balance one percent and one percent increase in output increases primary balance one 

percent. This fact implies that  1YY

Y
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t = = . Then, we have: 
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Plugging Eq.(A.10) into Eq.(A.9) yields: 
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Second‐order approximation of  ( )RtRY   is given by: 
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  .  Plugging  those  derivatives  into  the 

previous expression yields: 
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Subtracting  ( )RRY   from both sides of the previous expression and dividing both sides 

of the previous expression by that yields: 
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Second‐order approximation of  R
tR   yields: 
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Subtracting  RR   from both sides of the previous expression and dividing both sides of 

the previous expression by that yields: 
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Plugging the previous expression into Eq.(A.12) 
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Plugging Eq.(A.13) into Eq.(A.11) yields: 
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Plugging Eq.(A.10) into the previous expression yields: 
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( )2 3

2
0

ˆ t.i.p
1

ˆ1 1

1
ˆ

1

R
t

t

g t t g t t g t t

g

t t

r

c c y c g

y
f

x

w t w w

w w
t

b d

¥

=

ì üï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ï+ +í ï ïï ïï ïï ïï ï- + - + +ï ïï ïï ïï ï+ï ïï ï+ï ïï ï- -ï ïï ïï ïï ïï ïï ïî ï ï

å
, (A.14) 

with  ( )1 1fw b f dº - - - . 

Second‐order approximation of the market clearing  t t tY C G= +   is given by: 

( ) ( )32 2 21 1
, s.o.t.i.p

2 2
t t C t t G t CC t CG t tY C G Y Y C c c Y Gg Y C c Y CGc g o x

æ ö÷ç= + + + + + + +÷ç ÷çè ø
, 

which can be rewritten as: 

( )32 s.o.t.i.p
2
C G

t C t G t t G t ty c g c c g o
s ss s s x= + + - + + , 

where we use  CC
C C

C

Y CC
Y
Y Y

s=- = ,  G G

G
Y

Y
s=   and  1

CGY C-=- . 

Iterating the previous expression forward yields: 
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( )32
0

0

0 E t.i.p
2

t C G
t C t G t t G t t

t

y c g c c g o
s sb s s s x

¥

=

æ ö÷ç= - + + + - + +÷ç ÷çè øå . (A.15) 

Second‐order approximation of Eq.(23) in the text is given by: 

   ( ) ( )2 2 3
, ,, ,0

0

1
E t.i.p

2
t

t t t tt t t t

t

kk ff kk ff on k b x
¥

=

é ù
= - + - + +ê ú

ê úë û
å , (A.16) 

with: 


,t t G t G t tkk c g mcs sº- + + , (A.17) 


,t t G t G tff c gs sº- + . (A.18) 

Second‐order approximation of Eq.(25) in the text yields: 

( )

( )
( )

( )

( ) ( ) ( )

2 2

2

3

1
ˆ 1

1 2 2

1 2
ˆ ˆ 1

2 1

ˆ ˆ1 s.o.t.i.p.

t t t t t t t

t t t C t t t t

t t N t t A t t

mc c y a c y

c y c c a

y a y a o

t

t jj t j
t

t e
t j e t j

t

j j je t e j t x

= + + - + + +
-

+
+ + + - +

-

+ - + - + + +

, (A.19) 

with 
MC

MC
tt

t
t

te º  ,  C
C

C

MC

MC
tte º  ,  N

N

N

MC

MC
tte º    and  A

A

A

MC

MC
tte º    where  we  use 

Eq.(22) in the text to eliminate  tn . 

Plugging Eqs.(A.17)—(A.19) into Eq.(A.16) yields: 

( )

( )( )
( )

( )

( ) ( )( )

( )

( )( ) ( )

2 2 2

2

2

0

ˆ 1
1

1 1 2
ˆ 1

2 1

1
ˆE 1 1

1

1
ˆ 2

1

1 1
ˆ ˆ

1 1

t t t t C t t

t C t t

t C C
t t C t t

N

G t t t t t t G t t

A G
t t t t

c y a c y

c y

c c a

c g y y a y g

a g

t

tj t j s j
t

t t e t
t j s

t
t e ts

n k b t j s
t
j t e t

s t j s j
t

t e j t j s tt t
t t

ìïï + + - + + +ïï -ïï é ùï - - +ï ë ûï+ + +ïï -ïïïï - +ïï= + - + +íï -
é ù- +ë û+ + - +

-
- + + +

- +
- -

( )3
0

s.o.t.i.p.
t

o x
¥

=

üïïïïïïïïïïïïïïïïï+ +ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïî ï ï

å  . 

(A.20) 

Second‐order  approximated  period  utility  ( ) ( )t t tU u C v Nº +    with  ( ) lnt tu C Cº    and 
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( ) 11

1
t tv N N j

j
+º

+
  is given by: 

( )( )( ) ( )321 11
2 t.i.p.

2
t t t t t

C C C

u y z y y a o
j

x
s s s

é ù+ -FF -Fê ú= - + - + +ê úë û
, 

with 
( ) ( ), ,t t

c

U C N U C N
u

U C

-
º  ,  1 N

C

v

u
Fº -    and 

( )1

0
ln t

t

t

P i
z di

P

e-ì üï ïé ùï ïï ïê úº í ê úï ïï ïë ûï ïî 
ò  where we  use 

t t t tn y z a= + + ,  ( )32 2 2 s.o.t.i.p.t t t tn y y a o x= + - +     and  1
C

N

C
s-= . 

Iterating the previous expression forward yields: 

( ) ( )( )( ) ( )32 2
0

0

1 1 1
E 2 t.i.p.

2 2
t

t t t t t
t C C C

u y y y a o
e j

b p x
s ks s

¥

=

ì üé ùï ï-F + -FFï ïê ú= - + - + +í ê úï ïï ïë ûî 
å , (A.21) 

where we use  2

0 0 2
t t

t t
t t

z
eb b p
k

¥ ¥

= =

=å å . 

In the first order, Eqs.(A.21), (A.14), (A.20) and (A.21) are given by: 

( )20
0

E t.i.p.t
t

t C

u y ob x
s

¥

=

æ öF ÷ç ÷= + +ç ÷ç ÷çè øå , (A.22) 

( )
( ) ( ) ( )20

0

1 1
ˆ1 E t.i.p

1 1

g g

t t t
t

c y
f fw w w w

v d b t x
b d b d

¥

=

é ù+ +ê ú= - - - + + + +ê ú- - - -ê úë û
å , (A.23) 

{ } ( )20
0

ˆE t.i.p.
1

t
t t t

t

c y o
tn k b j t x
t

¥

=

= + + + +
-å , (A.24) 

( ) ( )20
0

0 E t.i.pt
t C t

t

y c ob s x
¥

=

= - + + +å , (A.25) 

where we ignore exogenous variables. 

We formalize to eliminate  ty   on Eq.(A.22) as follows: 

( )
1 2 3

1

1

g

C

fw w
j

s b d
+F =Q +Q -Q
- -

, 

( )
1 2

1
0

1 1

g fw w t
b d t
+

=Q +Q
- - -

, 

1 2 30 Cs=-Q +Q +Q , 
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where  1Q ,  2Q   and  3Q   are undetermined coefficients. 

By solving the system, we have: 

( )
1

0

1t b dF - -
Q =

X
  , 

( )( )
2

0

1 1 g ft w wF - +
Q =-

X
    and 

( ) ( ) ( )
3

0

1 1 1 g

C

ft b d t w w
s

é ùF - - + - +ê úë ûQ =-
X

, 

with  ( ) ( )( ) ( )0 1 1 1 1g C Cfw w ts t s j t b dé ùX º + - - + - - -ë û . 

0
0

Et t
t C

yb
s

¥

=

æ öF ÷ç ÷ç ÷ç ÷çè øå   on Eq.(A.22) can be expressed by using Eqs.(A.23), (A.24) and (A.25) as 

follows: 
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( )

( )
( )

( )
( )

( )
( )( )

( ) ( ) ( )

( )

1 1
0 1 2

0

2 2 2

2

2

1 0 2
0

2

E 1

1 11
ˆ

2 2 1 2 1

1 1
ˆ ˆE 1 1

2 1 1

1
ˆ

1

t
t

t C

g g

t t t

R
t g t t g t t

t

g

g t t t t

y

c y

r c c y

c g y

f f

f

b b d v k n
s

w w w w
t

d b d b

b g
w t w

b d g

w w
w t

b d

b

¥
- -

=

¥

=

æ öF ÷ç ÷=Q - - +Qç ÷ç ÷çè ø
é ù+ +ê ú+ +ê ú- - - -ê ú
ê úé ùê ú+ -ê úê úë û-Q + - + - +ê ú- - -ê ú
ê ú
ê ú+ê ú+ +ê ú- -ê úê úë û

-Q

å

å

( )( )
( )

( )

( ) ( )( )

( )

( )( ) ( )

2 2 2 2

2

0

1 1 2
ˆ 1

2 1

1
ˆ 1 1

1E
1

ˆ 2
1

1 1
ˆ ˆ

1 1

C t t t C t t

C C
t t C t t G t t

t

N

t t t t G t t

A G
t t t t

c y c y

c c a c g

y y a y g

a g

tt t e t
s j t j s

t
t e ts

t j s s
t

j t e t
t j s j

t
t e j t j s tt t

t t

ì üé ùï ï- - +ï ïë ûï + + + + ïï ïï ï-ï ïï ïï ï- +ï ïï ï+ - + + +ï ïï ïï -ïí ï é ù- +ï ë ûï+ - +ïï -ïïï - + + +ïï- +ïï - -ïîï

( )
( )
( )

( )
( )( )

( )

( ) ( )

0

32
3 0

0

1 2 2 231
2 2

2

21

2

0 1 2 2

E t.i.p
2

1

2 1 2 2

1 1
ˆ

2 1 1

E 1 1 2

t

t C G
t G t t

t

g C G
t C t

R
t

t
g C t t t

c c g o

y c

r

c y y a

f

s sb s x

w w s sj s
d b

b g

b d g

b w j s j

¥

=

¥

=

ïïïïïïïïïïïïïïïï
æ ö÷ç-Q - + +÷ç ÷çè ø
é ùQ + é ùQQê ú+Q + +Q +ê úê ú ê ú- - ë ûê úë û

é ùQ + -ê úë û+
- - -

é ù=- + -Q + +Q + - Qê úë û

å

å

( ) ( )( )

( )

0

1 2 3 2

2

3

0 0
0

1 1

E t.i.p.

t
t

g G G t t C t t

G t t

t
t

t

c g c a

y g

o

w s s j s
s j

b x

¥

=

¥

=

ì üï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïí ï ïï ïï ïï ï+ Q +Q - Q -Q + +ï ïï ïï ïï ï+Qï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïï ïî ï ï
- T +¡ + +

å

å
, 

with: 
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( ) ( )

( ) ( )

( )( ) ( ) ( )( )
( )

1 2

2

1

2 2 22
2

1 1
ˆ

1 1

1
ˆ1

1

1 1 1 1 2
ˆ ˆ ˆ

1 1 2 1

g N

t t t

C C

g t t

A G
t t t t t

y

c

a g

f

t

w w j t e t
t

b d t

t e ts
w t

t

t e j t j t t e ts tt t t
t t t

é ùé ùQ + Q - +ë ûê úT º +ê ú- - -ê úë û
ì üé ùï ïQ - +ï ïë û+ -Q + +í ï ï-ï ïî 
é ù é ùQ - + + + Q - - +Që û ë û- + +

- - -

, 

( ) 1 1
0 1 21 b d v k n- -¡ ºQ - - +Q . 

We  set 
( )( ) ( )

( )( )
1 2

2

1 1 1

1 1

g

N

ft w w tj b d
e

j b d t
Q - + +Q - -

=-
Q - - -

  , 
( )1

2

1 g

C

w
e

Q +
=-

Q
  , 

( )
1

2 1
te t
º-

-
  and 

1
A

t je
t
+=-
-

. Then,  0tT =   so that: 

( )
( )

( )( )
( )

( )

2

22
0 0 1 2 3 2

0 0

3

0

1 1
ˆE E 2

2 1 1

t R
t t t t t t t

t tC

y y y g y a r

o

b g
b

s b d g

x

¥ ¥

= =

é ùé ù+ -æ ö ê úF ê ú÷ ë ûç ÷=- W - W +W +ê úç ÷ç ÷ç ê úè ø - - -ê úë û
+¡ ++

å å  
, 

with: 

( ) ( )
( )

( )( )( )
( )

1 3
2

1

2 1

1 2

1 2
1 1

2 1 1 1

2 1

C G C

g C

C C g

C

f

s s s
w s w b d

s j s j w

s b d

ì üQ - +Qï ïï ïï ïQ + + - - í é ùï ï+ Q + + + -Qï ïê úë ûï ïî W º
- -

 , 

( ){ } ( ) ( )1 2 3

2 2

1 1 1

2

G C g G g C G G

C

s s w s w s s j s

s

é ù é ùQ - + + + Q + +Q +ê ú ë ûë ûW º , 

( )( )2

3

2 1 1

2

C C

C

s j j s
s

é ùQ + + +ë ûW º . 

Plugging the previous expression into Eq.(A.21) yields: 

( ) ( ) ( )
( )( )

( )

( )

2

212 2
0 1 2 3 2

0

3

0

1 11
ˆE 2

2 2 1 1

R
t t t t t t t

t C

u y y g y a r

o

b ge
p

ks b d g

x

¥

=

é ùé ùQ + --Fê úê úë û=- W - W +W + +ê ú
ê ú- - -ê úë û

+¡ ++

å
, 
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with 
( )( )

1 1

1 1

2 C

j
s

+ -F
W ºW +   and 

( )( )
3 3

1 1

2 C

j
s

+ -F
W ºW + , which can be rewritten 

as: 

( ) ( ) ( )
( )( )

( ) ( )
2

21 3* 2
0 1 02

0

1 11
ˆE

2 2 1 1

R
t t t t

t C

u y y r o
b ge

p x
ks b d g

¥

=

é ùé ùQ + --Fê úê úë û=- W - + + +¡ ++ê ú
ê ú- - -ê úë û

å , 

with  * 32

1 1

t t ty g a
WWº +

W W
  ,  which  is  Eq.(31)  in  the  text.  Let  define  12yL º W   , 

( )1

C

p
e

ks
-F

L º   and 
( )

( )( )

2

1

2

1 1

1 1
r

b g

b d g

é ùQ + -ê úë ûL º
- - -

. Then, the previous expression can be 

rewritten as: 

( ) ( )30 0
0

E t
t

u L o x
¥

=

=- +¡ ++å , 

with: 

( ) ( )2 2* 2 ˆ ˆ
2 2 2

y Gr
t t t t t tL y y r rp p
L L Lº - + + - , 

which is Eq.(30) in the text. 

A.2    Derivation of Second‐order approximated utility  function without 

Default Risk 
Let define: 

1
0

0

Ef t
t t t

t

W C SPb
¥

-

=

ºå , (A.26) 

with  ( )1 1
1 1

f
t t t t t tW C R sp B- -

- -º G - P . (A.27) 

Second‐order approximation of Eq.(A.26) is given by: 

( ) ( )2
1

1
1 E

2
f f
t t t t t t t tw c sp c c sp wb b +

æ ö÷ç= - - + + - +÷ç ÷çè ø
. 

Iterating the previous expression yields: 

( ) ( )32

0

1
1

2
f t

t t t t t
t

c sp c c sp ov b b x
¥

=

æ ö÷ç= - - + + - +÷ç ÷çè øå  

with  0
f wv º . 

Plugging Eq.(A.10) into the previous expression yields: 



15 
 

( )

( ) ( )

( )
( ) ( )

( )

2

32 2

0

1
ˆ1 1

2
1 1

ˆˆ ˆ1 1
2 2

ˆ1 1

t g t g t t

g gf t
t t g t t

t

g t t g t t g t t

c y c

y c o

c y c g y

w t w

w w
v b b t w t x

w w w t

¥

=

é ù
- + + + + +ê ú
ê ú
ê ú+ +ê ú= - + + - + +ê ú
ê ú
ê ú
- + + + +ê ú
ê úê úë û

å , (A.28) 

In the first order, Eq.(A.28) is given by: 

( ) ( ) ( ) ( )32

0

1
ˆ1 1 1

2
f t

t g t g t t
t

c y c ov b b w t w x
¥

=

é ù
= - - + + + + + +ê ú

ê úë û
å . (A.29) 

We formalize to eliminate  ty   on Eq.(A.22) as follows: 

( )1 2 31f f f
g

C

w j
s
F =Q + +Q -Q , (A.30) 

( )1 20 1
1

f f
g

tw
t

=Q + +Q
-

, (A.31) 

( )1 2 30 1f f f
g Cw s=-Q + +Q +Q , (A.32) 

where  1
fQ  ,  2

fQ    and  3
fQ    are  undetermined  coefficients  on  Eqs.(A.29),  (A.24)  and 

(A.25), respectively. Solution of the previous system yields: 

1

0

f

f

tFQ =
X

, 

( )( )
2

0

1 1 gf

f

t wF - +
Q =-

X
 

( )( )
3

0

1 1 gf

f

t t wé ùF + - +ê úë ûQ =-
X

 

with  ( ) ( )( )0 1 1 1f
g C Cw ts t s j té ùX º + - - + -ë û . 

0
0

Et t
t C

yb
s

¥

=

æ öF ÷ç ÷ç ÷ç ÷çè øå   on Eq.(A.22) can be expressed by using Eqs.(A.29), (A.24) and (A.25) as 

follows: 
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( )

( ) ( )
( )

( )( )
( )

( )

( )

1 1
0 1 2

0

2 2 2

1 0

0

2 2 2 2

2

2 0

E 1

1 11
ˆ ˆ1 1

2 2 2E

ˆ1

1 1 2
ˆ 1

2 1

1

1E

t f f f
t

t C

g g

t t t g t t g t tf

t
g t t g t t

C t t t C t t

C C
t

f t

y

c y c c y

c g y

c y c y

c

t

b b d v k n
s

w w
t w t w

w w t

t t e t
s j t j s

t
t e ts
tb

¥
- -

=

¥

=

æ öF ÷ç ÷=Q - - +Qç ÷ç ÷çè ø
é ù+ +ê ú+ + - + - +ê ú-Q ê ú
ê ú+ +ê úë û

é ù- + +ë û+ + + +
-

- +
+

--Q

å

å

( )( )

( )

( )( ) ( )

0

2
3 0

0

ˆ 1 1

1
ˆ 2

1

1 1
ˆ ˆ

1 1

E t.i
2

t C t t G t t

t
N

t t t t G t t

A G
t t t t

f t C G
t G t t

t

c a c g

y y a y g

a g

c c g

t j s s

j t e t
t j s j

t
t e j t j s tt t

t t
s sb s

¥

=

¥

=

ì üï ïï ïï ïï ïï ïï ïï ïï ïï ïï ï- + + +ï ïï ïï ïï ïí ï ïé ù- +ï ïë ûï ï+ - +ï ïï ï-ï ïï ïï ï- + + +ï ïï ï- +ï ïï ï- -ï ïî ï ï
æ ö÷ç-Q - +÷ç ÷çè ø

å

å ( )
( )

( ) ( )

( ) ( )( )

3

1 2 2 231
2 2

0 1 2 2

1 2 3 2

2

.p

1

2 2 2

E 1 1 2

1 1

f ff
g f f C G

t C t

t f f
g C t t t t

f f f f
g G G t t C t t

f
G t t

o

y c

y c y a

c g c a

y g

x

w s sj s

b w j s j

w s s j s

s j

+

ì üé ùï ïé ùQ + QQï ïê ú ê úï ï+Q + +Q +ï ïê ú ê úï ïê ú ë ûï ïë ûï ïï ïï ïï ïé ù=- + -Q + +Q + - Qí ê úë ûï ïï ïï ïï ï+ Q +Q - Q -Q + +ï ïï ïï ïï ï+Qï ïïî 

( )

0

3

0 0

0

E t.i.p.

t

t f f
t

t

ob x

¥

=

¥

=

ï

- T +¡ + +

å

å

, 

with: 

( ) ( ) ( ) ( )

( )( ) ( ) ( )( )
( )

2 2

1 1

2 2 22
2

1 1
ˆ ˆ1 1

1 1

1 1 1 1 2
ˆ ˆ ˆ

1 1 2 1

f f f f
N C Cf f f

t g t t g t t

f f f f
A G

t t t t t

y c

a g
t

j t e t t e ts
w t w t

t t

t e j t j t t e ts tt t t
t t t

é ù ì üé ù é ùï ïQ - + Q - +ï ïê úë û ï ë ûïT º Q + + + -Q + +í ê ú ï ï- -ê ú ï ïï ïë û î 
é ù é ùQ - + + + Q - + +Qê ú ê úë û ë û- + +

- - -

,  ( ) 1 1
0 1 21f f f fb d v k n- -¡ ºQ - - +Q . 

We  set 
( )( )

( )
1 2

2

1 1

1

f f
gf

N f

t w tj
e

j t
Q - + +Q

=-
Q -

 , 
( )1

2

1f
gf

C f

w
e

Q +
=-

Q
 , 

( )
1

2 1
f
te t
=-

-
   and 
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1
f
A

t je
t
+=-
-

. Then,  0f
tT =   so that: 

( ) ( )32
0 0 1 2 3 0

0 0

E E 2t f f f f
t t t t t t

t tC

y y y g y a ob x
s

¥ ¥

= =

æ öF ÷ç é ù÷=- W - W +W +¡ ++ç ÷ ê úç ë û÷çè øå å   , 

with: 

( ) ( ) ( )( )( )2
1 3 2 1

1 2

1 1 2 2 1 1 1

2

f f f f
g C C G C C C gf

C

w s s s s s j s j w

s

é ùé ùQ + + - +Q + Q + + + -Qê ú ê úë û ë ûW º , 

( ){ } ( ) ( )2 2 3

2 2

1 1 1

2

f f f
G C g G g C G Gf

C

s s w s w s s j s

s

é ù é ùQ - + + + Q + +Q +ê ú ë ûë ûW º , 

( )( )2

3

2 1 1

2

f
C Cf

C

s j j s
s

é ùQ + + +ë ûW º . 

Plugging the previous expression into Eq.(A.21) yields: 

( ) ( ) ( )32 2
0 1 2 3 0

0

1
E 2

2
f f f f

t t t t t t

t C

u y y g y a o
e
p x

ks

¥

=

é ù-Fê ú=- W - W +W + +¡ ++ê úë û
å , 

with 
( )( )

1 1

1 1

2
f f

C

j
s

+ -F
W ºW +   and 

( )( )
3 3

1 1

2
f f

C

j
s

+ -F
W ºW + , which can be rewritten 

as: 

( ) ( ) ( )32
0 1 0

0

1
E

2
f f

t t t

t C

u y y o
e
p x

ks

¥

=

é ù-Fê ú=- W - + +¡ ++ê úë û
å , 

with  32

1 1

ff
f
t t tf f
y g a

WWº +
W W

. Let define  12f f
yL º W . Then,  the previous expression can be 

rewritten as: 

( ) ( )30 0

0

E f f
t

t

u L o x
¥

=

=- +¡ ++å , 

with: 

( )2 2

2 2

f
y f

t t t tL y y p p
L Lº - + , 

which is Eq.(32) in the text. 


